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Question 1

Question Type: MultipleChoice

What is a characteristic of synchronous and asynchronous API calls?

Options:

A- Synchronous API calls must always use a proxy server.
B- ASynchronous communication uses more overhead for client authentication
C- Synchronous communication is harder to follow and troubleshoot

D- Synchronous API calls wait to return until a response has been received

Answer:

D

Question 2

Question Type: MultipleChoice




Which two initial actions should be taken when exploring automation capabilities for ACI? (Choose Two)

Options:

A- Write scripts that leverage the Python Standard Library
B- Look for an open-source package or SDK

C- Use the API Inspector and test API Calls

D- Develop an open-source package or SDK

E- Use the ncclient command to explore the NETCONF capabilities

Answer:

B, C

Question 3

Question Type: MultipleChoice

Which two application isolation options are available when Kubernetes is deployed with the ACI CNI plug-in? (Choose two.)



Options:

A- Process Isolation

B- Namespace Isolation
C- Cluster Isolation

D- Server Isolation

E- VM Isolation

Answer:

B, C

Question 4

Question Type: MultipleChoice

Refer to the exhibit.

dnQuery.subtree = 'parent'
tenantMo = moDir.query (dnQuery)

s L B

dnQuery = DnQuery('uni/tn-companyX¥yYz')

defaultBIMc = tenantMo.BLD['default']




Which action fixes the code to access a child managed object?

Options:

A- Delete line 2.
B- Change dnQuery to classQuery in line 1.
C- Move line 2 to the last line.

D- Change parent to children in line 2.

Answer:

D

Question 5

Question Type: MultipleChoice

Refer to the exhibit.



from ucsmsdk.ucshandle import UcsHandle

handle = UgsHandle (hostname, username, rassword, port=20)
handle.login()

for blade in handle.guery classid("computeBlade",
filter str=

print (blade)
handle. logout ()

When Cisco UCS is configured, which filter must be added to the str_filter string to retrieve all discovered compute blades with two
CPUs?

Options:

A- (num_of _cpus eq 2) and (discovery eq complete)
B- (num_of cpus. 'x2\ type-sum') and (discovery, ‘completel, type='sum’)
C- (num_of_cpus eq <2) and (discovery eq more)

D- (num_of_cpus. '2', type-eq’) and (discovery, ‘complete’, type-'eq’)

Answer:

A



Question 6

Question Type: MultipleChoice

Which two network protocols does Cisco NX-OS iPXE support? (Choose two.)

Options:

A- IPv6
B- SFTP
C- SSH
D- IPv4
E- UNFS

Answer:

A D
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